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Annotations used in the detailed Mark Scheme (to include abbreviations and subject-specific conventions)

June 2016

Annotation

Meaning

Tick

Development of point

incorrect

Irrelevant (material which doesn’t answer the question)

Caret sign to show omission

Opinion

Just/Justification

Good language

Poorly expressed

Past tense correctly used

Future tense correctly used

Highlight

In

L

Accurate language

BB & EE | e A %S

Inaccurate language

Abbreviations
/

()

Meaning

Alternative and acceptable answers for the same marking point
Words which are not essential to gain the mark

Underlined words must be included to gain the mark
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Mark Scheme June 2016
Subject-specific Marking Instructions

You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the
end of the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the
marking process in order to spot excessive lifting in tasks 6 and 7. The texts will not appear automatically on your marking screen.

The award of marks is not necessarily dependent on the specific wording in the detailed sheets which follow. Other wordings will score the marks, provided they
are semantically equivalent. If the language used by the candidate conveys meaning and also answers the question, then the mark(s) should normally be
credited for comprehension (c.f. “sympathetic native speaker/sympathetic examiner”). Use your professional judgement to apply the marking principles given

in this mark scheme but if you are still in doubt about the validity of any answer, then consult your Team Leader by phone, the messaging system within
SCORIS or e-mail.

Language marks: These are assessed separately — Grids C.2 and F.2 — See guidance in the detailed sheets below.

Where candidates give alternative answers, only the first one written, or the one on the line should be marked.
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Section A: Listening and Writing

Mark Scheme June 2016

Exercise 1:
Question Answer Marks Guidance
[12]
1 o 1
Multi-choice
2 < 1
3 - 1 either
4 o 1 Marks entered individually. No need for annotation. Enter 1, 0 or NR as
: appropriate.
5 < 1
6 i) 1 or . . o
This task is scanned in by the page. Marks are awarded individually. No
7 < 1 annotations are necessary.
8 al) 1
9 < 1
10 ¢ 1
11 Al 1
12 G 1
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Exercise 2
Question Answer Marks Guidance
[13]
Al S- 9 1 .
G| asug 6 I
< either

o r9A-13 1 The elements are scanned in individually. No annotation is necessary.

< s - 1 1 Enter 1,0 or NR as appropriate. Ignore mis-spellings.

& sda -7 1

. Or
d Hix-5 1 o
) The elements are scanned by the page. No annotation is necessary.

d Lt pl) -2 1

C atile - 11 1

¢ Wy g - 8 1

A Soids el - 10 1

3 aisal e - 15 1

J Al -3 1

3 835 - -18 1
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Exercise 3

Task specific guidance:
e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)

e For single mark questions no annotation is necessary just enter 1, 0 or NR.

e There is no need to use a cross (X) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the
mark or when a word in the response invalidates an otherwise acceptable answer.

¢ You may also use the highlighter tool to show harmless additions.

e Answers in Target language get no marks.

Question | Answer Marks Guidance
[15]
A charity (organization) [1]
2 Insufficient essential nutrition in children’s daily meal [1] f]‘nylt'ﬂd'fa“gn thai.wgﬁ%.noLiat'gg
Diet of overweight/obese children [1] nearny tood or €ating unheafthy/Junx food IS
acceptable.
3 In preparing/ Improving school meal programme [1]
Giving the information to parents to change their daily meal diet [1]
4 To carry out this research/survey/investigation 1] SRIXAZ out Or 3 ] oniorm?] collect th
To gather information/ filling the questionnaires/ question papers/ survey [1] complete the question/form’/ collect the

(throughout the country) survey/ give in data

Any indication to low wages or salary or less

5 High school graduates / university students (at first year) /finish school [1]
They pay low wages [1] money
6 They should be able to use computer [1]
All the survey work will be on computer [1]
7 All pupils of primary and secondary schools (throughout the country) [1] Any indication to children/teenagers
8 Giving one healthy_ meal (every day) to children from low income families [1]
Giving them free lunch tickets (without their classmates noticing) [1]
9 Sending email to the charity organisation (to get information and the form) [1]
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Exercise 4 10 marks for Communication (Grid H1), 10 marks for Quality of Language (QoL)
Task Specific Guidance

e The candidate response will be scanned in twice. The marks for Communication are awarded the first time. The second image is for you to
assess the QoL.

e Communication: This is a transfer of meaning exercise, not a word-for-word translation, so there may be several ways of putting the points
across. Key elements of the points are underlined in the mark scheme. For communication / content, assess as a “sympathetic native speaker
/ sympathetic examiner” and give credit accordingly.

e Annotations:

¢ Inthe body of text, use a tick (V') to show that a point has been fully and successfully conveyed.
e If an element of the point has been omitted, use the caret sign (A).
e If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.

e Use a cross (X) when a word in the response invalidates an otherwise acceptable answer.
e The annotations will give a global impression to help you apply Grid H.1 accurately and consistently.
e Grid H.1: The ticks will show the number of points successfully conveyed. These will normally correspond with the marks you award.

Task 4: Communication points

Question Answer Marks Guidance

[10] Accept Do not accept

O Soskign | ) e o3 (lamd 53 S50 AS (e )3
Mgy O 3 48 A8 ga IS (6] 3 alila (e /313 (e 4 (BT ) (R
LS (a [ a8 bl 4B Sl |5 Gl i (e /.S Ll 00
a2 [ A (AUA AU LU A 5] (e e (5 Sgnals
[ 383 08 (GU ) i gaaals S S8 8 4q Ladi AS AS Cud Gl 2 (10
IS Gl ol T g Aid e 5 Aidign s gy (e pala dla

al oﬁb:\gau“ﬁd)édsugu O G g8 Jaadl o) G g 43 [ Lay)d
cale b pa U ) Al el (et g/
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9-10 Most or all of the information successfully conveyed.
7-8 Three quarters of the points conveyed.
5-6 Half of the information successfully conveyed.
3-4 Only a quarter of the points conveyed.
0-2 Very little or no information conveyed.
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QoL.: Read response again and assess for language.

e Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not
essential.

e Grid C.2: Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. At AS level, one year
beyond GCSE, the only complexity of language that is expected is that required by the task. Identify the band which best matches the
performance. If you identified the band without hesitation you must award the higher of the two marks.

QUALITY OF LANGUAGE - ACCURACY

P G2 10 marks AO3

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

7.8 Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct
use of complex sentence structures. The performance is likely to be patchy and inconsistent.
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival

3-4 agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced
by the candidate’s first language.

0-2 Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common

nouns). Frequent first language interference.

10
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Section B: Reading and Writing

Exercise 5 - Part a

Mark Scheme
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Question Answer Marks Guidance
[10]
1 «—=D
. 1 mark for each correct answer
2 G—C _ . . o
) This task is scanned in by the page. The marks are awarded individually.
3 ¢-=C No annotations are necessary.
4 &l — a
5 «ll — g
6 <-b
7 <—-Db
8 @—-C
9 &l — g
10 $—C

11
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Exercise 5 - Part b

Questions Marks Guidance
O\AJ‘ 1:,)5 1_;1_“,53 e\_& 2 g jg;);j [10] 1 mark for each correct answer
1 X X X This task is scanned in by the page.

The marks are awarded individually.
No annotations are necessary. If the
2 X X candidate has put more than 10 ticks,
add up the total number of correct
marks and deduct 1 mark for each

3 X X tick over 10.

12
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Exercise 6
Task specific guidance

e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). The entire
page will then appear on the screen for you to assess the QoL.

e Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear
on the screen.

e Go through all the responses and assess every question for comprehension.

a. Marks are awarded on a point by point basis, according to the mark scheme.

b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or
QoL

c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes
slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may
answer with single words / short phrases.

e Annotations:
e Award 1, 0 or NR without annotation.

e Use atick (V) to indicate a mark awarded on any question where the answer is more than one mark.

e Use a cross (X) when a word in the response invalidates an otherwise acceptable answer.

e Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude
from Quality of Language assessment.

Assessing Quality of Language
a. You will get a separate screen which will be the whole page (unannotated). Read all the answers again. You may use the green L
marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential.

b. Apply Grid C.2 and enter the mark.
c. When candidates have left several questions unanswered, click on “fit height” to have an overall view.

13
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Exercise 6
Question Answer Marks Guidance
[20] Accept Do not accept
1 A oo B plala b aslite LA osa 1
2 A il Gais 5950 4 1
3 Csin b [ oS8 [ sladd - Gloti g/ dale | 181
4 sadal |l ol Gy paaaSlagla je s/ ol gy s S i gl Ll | g1
Jg sladnd la ALS o) S 1
5 s Hliu L%k_i_i%} dgla e daale gl gl alaa 31) (Db Gl ga e gl gl ¢ SIS JAN ) 1
b a )l STl 4 - ai st e | (22 1
6 J)S kf.’i’ujﬁ Qo J"J"J:’h ‘J U‘ ‘453‘),-)34 5o L:As""“}‘ [ 35 LSJ.J""'@ 3 J:’h.:"b ,)l:‘“‘t’ A 1&1 UL}AUBJDJ'HA
Jod B8 Jads
7 GRG0 s S e) b 5o side iy a A g Y sare AS Aty - Lagl ) So dasd 181 |7
a S e A (URS
8 Gl iGN WY gl o G sa/ aitua o) Ll sladadla ) [ 2S00 SaS 6y da dliail 4y 1&1
9 Cagi o laa O Cale - (350 &S a gl ) 800 5) Cawdin S a0 3 () o LIS 1&1
10 ) At g Lgil a4 (S slanl&iily s ) sa 1
11 (d)sA}).\}thS cw.\l@_‘o‘)d) \ﬁSJ/ﬁJ\ w\.ﬁ.&)& (d\.ﬁcJ}J) 1
12 2 el ) Al G S Hlaa [ s 5 8w (W) 5 s k) &l b 1

14
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o If only 1/3 of the questions have been answered, the maximum mark for C2 is the 5/6 band
e If only 2/3 of the questions have been answered, the maximum mark for C2 is the 7/8 band

QUALITY OF LANGUAGE - ACCURACY

ERDE2 10 marks AOS3

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

7.8 Language generally accurate. Shows a sound grasp of AS and/or A2 structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct
use of complex sentence structures. The performance is likely to be patchy and inconsistent.
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival

3-4 agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced
by the candidate’s first language.

0-2 Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common

nouns). Frequent first language interference.

15
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Exercise 7
Task specific guidance

Have a copy of the text to hand and familiarize yourself with it, so that you can easily spot instances of lifting from the original. Only the candidates’
work will appear on the screen. You will have three successive screens 7a, 7b and then 7a + 7b again, but without the annotations in order to assess

QoL.

Task 7a Comprehension. Grid | [10 marks]
a. Annotations:

¢ Inthe body of text, use a green tick ¥ to show that a point from the mark scheme below has been fully and successfully conveyed.

e If an element of the point has been omitted, use the caret sign (A).
e If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.

The annotations will give a global impression to help you apply Grid | accurately and consistently.

b. Grid I: Looking at the annotations, assess what proportion of the points has been conveyed and apply Grid I. Enter your mark.

c. Copying/ lifting: If chunks of the text are simply copied, award marks for comprehension but there is a limit of 3-4 marks for (a) if the entire
answer is lifted (see Grid ). Verbatim copying of the stimulus text results in no marks. Use the highlighting tool (......) to show lifted language. Only
phrases of 5 words or more should be counted as lifted language.

16
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Question Indicative content Marks
[10] Levels of Response
IRy * oy S i iy QLS IS ) i ds gl s 40 sy Grid |
[ 280 S 4y i) 3 ) S 228 (IO Iai) Wl /.08  DMPREHENSION OF TEXT

OF 2 48 /2 alagl (S5 a1 R avansl IS (Gl 52 i g ) 2my
ISl ol s/ a1y Wl ol J8aa B fai )38 S yidl 4 0l S slaali
[ .25 0380 S El 4a ) 258 ol € slaalid 4 adl aa ol S ()

S Bala s 5 (5 Aali pd b S 4 Gol s Gl 40 Qs )
48 0 Qs [ a5 LWLAIS j0 Qs (8 53y Jae ) /200 S
[ il 35l s 55 ol din Sk 50 5/ a8 Jlad Y400

4S a5 Rsd o Gl L ) sl din ol csii g (5505 Gl
Cosina /28 Jla )l O ol 4 <S58 Gl IR, 51 (S o
Ostlie 2asle 53 (b 4S (5 5k 4o [ly (i) ) Ce s 4y s
Ol el b)) o 8K € 5 dmy Jl S5 [ adila € a3 3y
[ oA D¥a o bhe an 53S9 )

A4S g soaliilul e 4y g8 gy alea ) (alii ) (sladila ) o) 5
5 elainl Y sad 50 (K5 G/ e gdiga glen ol 2 Ll )
B A 5 5 AL 43 03 ja o Slad Gpined 5 [ a3 je (Sia A
Gl Gl G352 g 5 O Ol a8 Ll (S /L o SL S
3 oS 2bke SO ) Gl adlale 580 Gupig [l 84

[ .0l saiiSan 3l

Consistently relevant information. Includes nearly all
the points from the original passage. Shows a very
clear understanding of the text

7-8

Relevant information showing understanding of up to
two thirds of the points from the original passage.
There may be one or two instances of lifting from the
original passage.

5-6

Some relevant information showing understanding of
up to half of the points. There may be instances of
lifting from the original passage.

3-4

Little relevant information. Includes up to a third of
the points, showing understanding of some of the points.
Over-reliance on phrases lifted from the original
passage.

0-2.
No relevant information or supplies one or two
relevant points from the original passage.

19-17 = 10 Marks 10-9 = 7 Marks
16-14 = 9 Marks 8-7 = 6 Marks
13-11 = 8 Marks 6-5 =5 Marks

17
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Task 7(b) Response Grid J [20 marks]

Mark Scheme

June 2016

Question

Answer

Marks

Guidance

[20]

Content

Levels of Response

No Indicative Content —
personal response

Grid J: Looking at the annotations, assess
the quality of the response to the text and
apply Grid J. NB: “imagination” and “insight”
are interpreted conservatively. The number of
ticks you have awarded will indicate a mark
band. You must then use your professional
judgement to fine tune your marking. You
may look at the quality of the candidate's
points and go down a mark or two if they
seem rather pedestrian or repetitive. Similarly
an attempt at originality or humour could gain
an extra mark or two. Enter your mark.

o Use the green tick (V') in the body of
the text to show each opinion / personal

response and a green tick (v +) in body of
text to show a development / extension of
the opinion. NB: one opinion may have
several extensions.

GRID J
RESPONSE TO TEXT

16-20

Responds with well developed points of
view which show insight, originality and
imagination.

12-15

Expresses points of view which are
consistently developed and respond to the
requirements of the task. Shows some
originality and/or imagination

8-11

Expresses points of view which respond to
the requirements of the task. Some of these
may be developed and there may be some
originality and/or imagination.

4-7

Manages the beginning of a response to the
requirements of the task. May have difficulty
in expressing and/or developing points.

0-3
Very short. May not go beyond points of
view already expressed in the original text.

18
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Task 7(a) + 7(b) — Language (QoL) — Grids C.2 and F.2: [20 marks]

Mark Scheme June 2016

Question

Answer

Marks

Guidance

Task 7a+b

Assess for Quality of Language using Grids

C2 and F2
Appendix 1

[20]

a. Read the whole response again and assess for Range (Grid F2) first —i.e.
vocabulary and structures. Then assess for Accuracy (Grid C2). Key words
have been highlighted in the grids below. Ignore final sentence of 3-4 band in
Grid C2, because vocabulary and structures have already been assessed
under Grid F2. If you wish, you may use the underlining tool (--) to show
language errors if you find it makes it easier to apply Grid C.2, but it is not
essential. Enter your mark.

b. Ignore language lifted from the text when assessing language (See Task 8a
above). Lifted language is not credited for QoL — only content points and/or
personal response.

19
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APPENDIX 1
QUALITY OF LANGUAGE - ACCURACY QUALITY OF LANGUAGE (RANGE)
GRID C.2 10 marks AO3 GRID F.2 10 marks AO3

Characterised by a high and consistent level of Effective and confident use of a wide range of

9-10 accuracy in use of complex structures, although there 9-10 vocabulary and idiom with a variety of complex
may be some errors. sentence structures.
Language generally accurate. Shows a sound grasp of Effective use of arange of vocabulary and
AS (and/or A2) structures, as appropriate. Generally structures appropriate to the task, with little

7-8 correct use of complex structures. Tenses and 7-8 repetition. A positive attempt to introduce variety
agreements good, although there may be some and to use a range of complex sentence structures
inconsistency and errors in more complex areas. (though not always able to maintain correct usage).
Shows evidence of fair understandlr_]g of grammatical Attempts to extend the range of vocabulary, though
usage. Generally accurate use of simple sentence : -

still rather repetitive. Attempts to use more complex

5-6 structures. Some correct use of complex sentence 5-6 | ith som in producin ran ¢
structures. The performance is likely to be patchy and anguage with Some Success in producing a range o
inconsistent. syntax and sentence structures appropriate to the task.
Evidence of gaps in basic grammar. Frequent errors of
an elementary kind (endings, verb forms, gender of Use of a restricted range of vocabulary and

3.4 common nouns, adjectival agreements) but evidence of 3-4 structures. Frequent repetition of the same words
correct use of simple sentence structures. and phrases. Some attempt (not necessarily successful)
(Vocabulary and structures may be quite strongly at the use of more complex sentence structures.
influenced by the candidate’s first language).
Little evidence of grammatical awareness. Persistent,

0-2 serious and elementary errors (endings, verb forms, 0-2 Only simple sentence patterns. Very limited
gender of common nouns). Frequent first language vocabulary. Very limited range of structures.
interference.

20
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Transcripts of Listening Texts
Note for Document production team: This section of the mark scheme must stay in Portrait format until after the standardisation meeting.

L’QMJJJ_\wJAS

Tapescript for Taskl

u H.d i
1 K Olsasi 5 SasS ) sbih o b ol Al VT g yia 48 S (s S 4

fiSion S8 (oa DasA (ol alaa (slacipa 4 AS dAn g an (OIS 5 siaal apd A 55 48e Dl - Lk

Adie G 25 aul A pd a3 O3S 3 ol U 6 jale 4S (s 5] 45 (5 pisA e a2 - (S

TS 50 50 5 (S se S sk e -

el R a2 40 4500 a8 (g o (g9 alauDISan I (So b e 5 (oSe 5ok 50 8L se (S g a9 e -

fox 45an- o

it 5 o8 ke g alh JUS 55 e s ge ald (e 4K (A I L A ey  Cioa (oSG S S a 48 -

fSn S (e aed Si- 0

228 sl lls 4 U aiSe Jsh (20 pd a5 ad i GUET 43 ged 53 ad (AR ¢S cal e ¢ CSLu 48 alaa (a8 -

o8 (5 0kl 53 5 5B (sA ) el AS i age il SR el a3 A a $shaa s - s

Gl auld gy adly 4By S i i et 5 be e 4o 4500 (5 S i e b 5B 5 QUS B it a3 g8 G (g dnga aln 5 Asdae a1 e -
5 ailea 0D Gsnsli aniia 4 Jadh i€ et K0 by ab 5i gl o 3 calS LI (g asli 5 adal Jie 5 pb Wiy oamny S (50 a5 alnd o i snalS
28 52 5A ) S

fiSe S8 (20

looabe 43 Lalee Sl 5 (alas alad) (S 5 o gt aly ) ¢l Gasa jn (3 5 Oladal S8 il -

TS 5l S8 shin) 4S Fa et g2 o sa -0

e Lad a4y cadinad (g (s (ol ) (g D) At 5 s (5 shall s e ol et a3 & Cad JBGN (503 S ah g a5 ol R el jlvia -
TS S8 a2 ) 5 S e seml s i > 40 s

(S S (e by 5 sl A Ladl g Al Ll adpe aS il -
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Tapescript for Task 2
UAM LSJJ N ( C)..)JA:

J\‘)‘ QL\..&.)

ra€ GE R )l g il )X (go sl selRila cul GBS 4

e isoB e GRUS G dSE 40 1) (el 8 5 o piladidle 5 SE H il A an i b (il 5 (Ul s Calida i glas s S
SIS 4 ¢ p8aBdle g Aol Gl 1 ab W pimmy (G oee Gl 4 pb (A8 5 S L Laiias 40 sl 50 b (e sla DS )
Ooee i 3o 5 (ilE alea ) (5 i

a3 A e O 58 e S Ay ATl 50 5y Gl S By Jilin 4S8 6 s 48Dle Lk Lia peadia (5555 40 gl allin g ) S
4 5 lei (o pd 4l oS R s ¢ i an atul o (Blal Jiuga RIS oS 8 calide ciliilae o odil 5y g ady sl RLud
o3n el T (i 5o me Om D) 50 GRS (KA 5 il ) sl JLas Ll a8 e S e LS g0y plaia sk

G5 A8 2 g aiud Jgl o5 8 e 4S Ayl Cumdl g Lal aily o) Jie Canl 53 e ald 5 2l e a5 ) w50 () 4a 81 (g

O 48 aa0d ok s S a8l a6 s il g pen 50 A (e o i Al i b K ey i 51 (g S s

AL 485 (B8 o S Al B g L AS g )X (5 s e 5 2 Dy el adlla s bl ol 5 s g3 e
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Tapescript for Task 3
"AM Sl — ¥ Gl

ol 4,3.::3
TR 6 g8 "ol 3 A M go jliyd ) Gl K 4

SIosA 3l s 2 50aS dial A e 3 55 (Gl 0 L3 alad) Ul ga iy LSS Al (sadat (o bt ea il st 3 pla Hla a4y el S
03 Sl )8 G 55 0l i S ) 1) 21 s Allal 48 (LS D138 a5 ) Grined (Ul sh 9 OIS S s4dl 3s ) s4alin )2 s
Lacal s 45 1 ol Caad 4y e Dl ¢l o sBle a8 B saldtul 3 ga e gl 0313 () ) gl 0 Ay ylae HaaS 48 j gy Slals (sl (sdugs

LA et )y A 3 (gael 5 4S A CSS Wl 4 U diay o

0 0K Sl gl 4 i8S mha o ladalidian y 03 S 5 SleDUal (5 glann 5o U 2 jla 5l alla ghy (g2l ) dlaei 4n (58 5 5 cl sl )
A5 A Ry aS 3 e (s o) calie iy cation s8I Jsh Jl )3 L ailea S Gl | iy 4S8 agl )y e IS &l
SOSS (@aat ) g aal A )5 enalS ) ealdil b HIS bl Glea J) e A0S HIS 5 aalS L an) 5 aly aat ) 53 OS 8 4 laiaddle
A8 a0 1 S sl my 5 i U s i

OIS ) L2 gd oala A a0 allis (5132 sae 5 CSG 4l s ) el ) aS (slasal sila (sladan 434S il () 44 a dnie ) al Galaal ) (S
A8 e el X A gia Ll dSar ASGT (s (Ul 4 128 e g S 0313 Ba sk ) Y sere

Sl 3 )y S sleald o i 5 el Sl ed un e ) 4x Gaal <Ko (b b i) gise laiaddle
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programme your call may be recorded or monitored

Oxford Cambridge and RSA Examinations

is a Company Limited by Guarantee PART OF THE
Registered in England CAMBRIDGE ASSESSMENT
Registered Office; 1 Hills Road, Cambridge, CB1 2EU

Registered Company Number: 3484466

OCR is an exempt Charity

OCR (Oxford Cambridge and RSA Examinations)
Head office

Telephone: 01223 552552

Facsimile: 01223 552553
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